Valse a 5 temps

Elle

Rémi Geffroy

J=175 J
| | |
g = I A (7] |
g\ O s =D s
[ M an YA )
~V %
D)
Do) ll. 6 7 6 4 8 7 6 7 6
sol(G) Il 77 7 8 9 7 7 6
CecceC ¢ Eee A FffF f GggGg CeccC c Eee A e
7
g It 2 J || J.JJD) N
l’fL\\ (7, - : 7 : - _i_
NV [ [
D)
4 6 6 Jf 4 r 7 z .8 8 88 7 6 6 6 6
z ’ 9 8 ) 7
Fff Gg CecCec FffFf Ggg G g Ccc Cec Ff f F f
13 |
. L | !
)] ] D
Y 4N . .
[ M an) [
AN/
D)
8 8 88 7 6 6 6 6 6 6 7
7 8 8 8 z 9 9 98 7z 8
Cc ¢ C c Ff f F f Aa a A a Gg g G g FffFf
18 | R
0 | 2
oy oo o | s — —p e ZE
NV
J
6 Jl 5 6 7 .6 7 6 S 4
7 7 7 8 ° 7 ¢ 7 6 7 8
Gg g G ¢ FffFf EeeE e CeceC ¢ Eee A a FffF f
g [+ [
p || 1 2 ]
77 =D 77 7 O
[ M an) )
NV [, [
D)
8 z 6 7 6 4 6 6 ] 4
9 7 7 6 7 : 7 9
GggGg CeccC ¢ Eee A e FffFf CccCec FffFf
30
0 ||
Z g e e (7
[ M an)
AN/
D)
r 7 z 6
8
Ggg G g CeccCec

2023




